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Find the values of the six trigonometric functions for angle 6. .0 Gl Cewdl diliall Cewadl 955 FES
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In a right triangle, £ A is acute. Find the values of the five remaining trigonometric functions.

7\ 7
4/1 smfA = 32 csc A= — = SREE
3. cosA = 7 353 33
&ﬂ) Cas A = i SeC A = ?»
2 : *
A x tan A - 53 Cot A = _& _ 435
4 53 33
+*_ = = (33
[
4. tanA =227 sim A - 2° csc p - 27
21~y (o~ 29 20
7
Cos A = _21 secA = 29
//gl\ 29 21
20 JC""‘*A = —2— Cot A - 2y
2—\ 20

o3l pi 13] Bsdae (o 232> 8l I 38 . X dosd sl deilio dus pasiwl
Use a trigonometric function to find the value of x. Round to the nearest tenth.
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Use a trigonometric function to find the value of x. Round to the nearest tenth.
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11. SENSE-MAKING Omar found two trees JS Lle 85l Logisy plni Ol sak 339 ?MI 211

directly across from each other in a canyon. When he asl> Lle 3yoidl oo 100 M @luco &y osic . 53lg)l o il>
moved 100 m from the tree on his side (parallel to the )
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edge of the canyon), the angle formed by the tree on . ° o &j;’ . .
his side and the tree on the other side was 70°. Find rg3loll see 5 iz o238l Ol e 8,2idly asl
the distance across the canyon. about 274.7 m
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12. LADDERS The recommended angle of elevation dx8l8o 3 pasiall pludll Loy eogall glasydl &9l 5Ll 12

for a ladder used in firefighting is 75°. At what height in e 21 m dob el ad] Juay S glis3l Lo .75 ° Lo Gasl

on a building does a 21-m ladder reach if the . . - U . -
Byl o 3> s,t)s| J! <89 ‘.'le.g ol glasydl QQ|' 33wl b!
recommended angle of elevation is used? Round to the : i e °f &

nearest tenth. 20.3 m
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